%34[B] BT =Ah—TF A}

IR

BT A ()
1| &H B FHRT=2777

2 BYE

3| Jdthy B IRAI—MEETS

4| e FE smstt

5 [ T T —=

6 BYE

71w oA Va—a—RR— Y5
8 | ek EH F—LT VAN

9 | Bt = Va—=2—AR—Y7IY
10 BYE

11 BYE

12| # A F—LT VAT

13| AR I Va—=a—AR—Y7IY
14| B smstt

15 BYE

16 | Al s F— LT VLS

B ——F ANIRTE

1| I Y Va—a— RS
2 | M HET F—LTIAT
B R () VL

R T TT IP== S S S

2 | AR AR Va—a—2R—Y7FH
3 | B BN Va—m— ARy TS
4| N EE smstt
E—T A (%) V=L

1| dehs & IR —MEETS
2 | HE ¥ smstt

2R SEF
= i
60
| JeRf |
63
5 H
64
=il
61
=il
63
62
®
61
F i
63
B .
61 |
A 9 4T
63 3k
4 Fr——
5 JR)II
#®
62
=h:y
61
| A
63
INER
62
| R
60




~—F 2l — (— - AkAE)

AANEF 1-2 3-4 1-3 24 1-4  2-3
1 2 3 4 s JNEAE
1 |NH LEL 2k 36 76 (5) 64 2-1 2
2 [N HiFA Va—a—2xR—Y75F 63 76 (1) 60 3-0 1
3 [ A sumco 67(5) | 67(1) 60 1-2 3
4 [BIE AET 7 — 46 06 06 0-3 4
7 — AR (H4E)
AANEF 1-2 3-4 1-3 24 1-4  2-3
1 2 3 4 5 HK JNIEAE
1 [ 5H ﬁé% FHET=2757 75 76 (3) 61 3-0 1
2 | RIS B TN — 57 76 (8) 75 2-1 2
3 | FH 7)7 19*73%7%2757“ 67(3) | 67(8) 61 1-2 3
4 [HIF HOA B a—TC 16 57 16 0-3 4




